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Please solve the equation x3+6x2—27x=0, and find out its real

roots.
A. X1= 0,X2 =—3,X3 =9 B. X1= 0,X2 =3,X3 =9
C. X1= 0, X2 =3, X3 =-9 D. X1= 0, X2 =—3, X3 =-9

There are three real numbers, a, b, and c. If a>b>c, and the average of
a, b, and c is M, the average of a and b is N, the average of N and c is
P, please compare the magnitude of M and P ( ).

A. M=P B. Mm>P C. M<P D. Uncertain

a, b, c and d are four numbers, to define an operation:
[a ~b »c ~d] =ad-bc, please find out the values of x, which meet the
operation: [x 2 *x ~X] =8
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In Fig.2, the area of A ABC is 27cm?, and BD:BC=1:3, E
AF:AD=1:3, then the area of shaded part is ( ) cm?.
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